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S 25,000
2 25,000
308 MXIHHSOIH 50,000 0 50,000
S 25,000
= 25,000
06 WEI|20UeExS 50,000 0 50,000
o =& 2AHZA BIXI 50,000,000 * 1 50,000
= 25,000
= 25,000
ME X 354,310 354,310 0
= 9,500
2 344,810
A2 SR ESKIJ 354,310 354,310 0
S 9,500
= 344,810
MIHHEEZSXE AL 300,560 300,560 0
201 YBr2 Y] 560 560 0
01 AtS22ibl 560 560 0
<2¥ay > 0
o MBSHEEZS oIS BN
70,000 » 49 « 23] 560
307 212H0I & 300,000 300,000 0
03 AMlBlEMEX= 300,000 300,000 0
o ASIHMEEZZ KA 300,000,000 300,000
MOIS2sX2 2dstAty 29,750 33,750 A4,000
301 et as 9,000 13,000 A4,000
10 SAHAHIEA S 9,000 9,000 0
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o MO 2210S 100,000 * 90% 9,000
307 QI2H0|H 20,750 20,750 0
02 SIAYABE 9,500 9,500 0
o ®=2 MOISXIEX 8 1,500,000 * 18l 1,500
o MOFSIHE 8tOHSTHE 8,000,000 + 12 8,000
05 PI2teIEr2 11,250 11,250 0
o MOt 2211S 125,000 * 90% 11,250
2EANSH I 7L 5,000 5,000 0
201 Yer2 Y| 5,000 5,000 0
01 At 2l 5,000 5,000 0
< ypragy > 0
o DEHYH HYE Il 7
5,000 * 5% + 2000H 5,000
Yigls Ol2 Xe 15,000 15,000 0
= 7,500
2 7,500
401 Al&HIL 20| 15,000 15,000 0
= 7,500
2 7,500
01 Al&t| 15,000 15,000 0
o HIIQE D2 FOSAAY
5,000,000 * 1742 15,000
= 7,500
= 7,500
MOISXIET X ®8t2 g 4,000 0 4,000
= 2,000
2 2,000
01 LB A 4,000 0 4,000
= 2,000
= 2,000
02 IS 4,000 0 4,000
o MOIZXIER XA Zaetz X2
1,000,000 * 4% 4,000
= 2,000
2 2,000
Y B3 2 1,186, 149 1,048,833 137,316
= 62,414
= 3,300
2 1,120,435
¥™ IPs oTet 1E 1,094,840 1,007,884 86,956
= 55,814
2 1,039,026
NEZHESSHSANALY 29 66,000 85,466 £19,466
403 XXISHH SR 201 66,000 0 66,000
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101 Q1248 10,752 10,192 560
04 JAMZRIISES 10,752 10,192 560
o DEJ| 2yl 33,740 * 18 * 280 9,448
o ANSEE S 9,448,000 * 13.8% 1,304
401 AEHILS 17,500 101,500 84,000
01 Al&| 7,500 101,500 84,000
o 2 FRBSAY FLTHIBAM
6,500,000 * 14! 6,500
o SAFY HLSEY 1E
5,000,000 * 1744 5,000
o AEA SEAAY EZ 6,000,000 * 14 6,000
405 X+arE S| 134,000 80,000 54,000
01 XA SEF S| 134,000 80,000 54,000
o @il 0|ZAILEY S
45,000,000 * 141 45,000
o 28 3718 A9 2A
20,000,000 * 14} 20,000
o Ols8 SEIH 7Y 4,000,000 * 1CH 4,000
o PUDEI| F2LC L AL F3I| 2
65,000,000 * 14} 65,000
BN HESH NAY 2Y 408,829 350,286 58,543
201 Yer2g| 194,419 191,717 2,702
02 ZZ2Y| 194,419 191,717 2,702
<BZRILHA > 0
o HH0IB2 40,000 * 25|14 * 128 960
o MUZM SMNY ME3H2
420,000 * 1534 * 122 75,600
o ZDNHQEHUNBIHE
1,200,000 * 18141 * 128 * 40% 5,760
o 2F 2% SUE ZAY MEH
2,800 * 550% * 62 9,240
o MUNBHBIMR(E-2)
1,530,000 * 18l& * 128 18,360
o .2 SHHNNINHEI NS
21,000 * 725]4 * 122 18,144
o HANME U UBIHSIABES
30,000 * 743/ & * 128 26,640
o MILAY0IERS
20,000 * 303|4 * 122 7,200
< AMRYISIH > 0
o HESAY RX 24
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o ABEHAAY RX 2L
84,530,000 * 141 * 8.0% 6,763
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53,588,510 * 14l x 8.0% 4,288
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o SNURY Y S4M M2 SN
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207 A FoHed| 164,410 58,569 105,841
02 & ARIHERH] 164,410 58,569 105,841
o BISIHAIAE ST B4
12,374,000 * 14! * 12.0% 1,485
o HAUXAAY X 22
40,700,000 * 1A = 12.0% 4,884
o HHADUAAE SANEx
72,000,000 * 141 * 10.0% 7,200
o HI0|HAYIAIAE S
20,000,000 = 1Al 20,000
o ABANAHY 29 15,000,000 15,000
o Z3t&Z SHOIX AN
5,000,000 * 14! 5,000
o HLYUSHAAH FAESS
43,000,000 * 14! * 12.0% 5,160
o SHAMOIE XIHAAE FAE
27,340,000 * 141 x 12.0% 3,281
o USBEOIAIAE SXE%
20,000,000 * 1A %= 12.0% 2,400
o WHHIBLEAAY 25
100,000,000 = 14! 100,000
405 XHAFFE S HI 50,000 100,000 A 50,000
01 Mt = EF SHI 50,000 100,000 250,000
o HIOIHAAIAE AHH WH
20,000,000 = 1A 20,000
o HHMEBIEAIAE 2= 30,000,000 = 14! 30,000
A2 B3B3 SSIIEAIAE 25 123,220 125,826 A 2,606
= 49,288
o 73,932
201 Et23d| 123,220 125,826 A 2,606
= 49,288
iy 73,932
01 AIR22|H] 123,220 125,826 N2,606
<AXE > 0
o A2 ABES ZED|IBIAIAE = G2
AXE 123,220,000 123,220
= 49,288
o 73,932
ANZPRHEAEBAIAE SSEH WA 16,315 0 16,315
= 6,526
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2H: E2D
Hal: #N 23 2Y
ool ®N M2 odet RS (el @g
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il b o HRs2
o PC 2H 7 1,000,000 * 100CH 100,000
o 2BEHE LO2LIE 22 300,000 * 100CH 30,000
o #IUSE TRIE PY 600,000 * 30CH 8,000
o &% WA P 500,000 * 10CH 5,000
o M 5E 7Y 200,000 * 20CH 4,000
Ao M2s g T4 91,309 40,949 50,360
= 6,600
= 3,300
2 81,409
ZOIHLS DS 18,000 19,740 A1,740
201 Ygreg| 8,100 9,840 A1,740
01 At 8,100 9,840 A1,740
< YBtgY > 0
o FOUNBHNEE DML
2,500 * 1,200 3,000
<YLY > 0
o XM DI £
30,000 * 170A12¢ 5,100
308 X+XI IS O & 9,900 9,900 0
06 RSN EE2 9,900 9,900 0
o SNMMDSH 0|8 FUYLIDS
900,000 * 11744 9,900
Hos0is 29 8,009 21,209 A 13,200
207 ALl 4,222 4,222 0
02 Z AN Y] 4,222 4,222 0
o H20tS EHOIXN RX24
35,177,770 * 181 * 12.0% 4,222
301 YErEA3 1,500 1,500 0
10 BAAHIE A2 1,500 1,500 0
o HIHUSEAAY DS U AT B
100,000 * 5% * 33| 1,500
307 2120/ & 2,287 15,487 A13,200
02 PABABE 2,287 15,487 A 13,200
o MYs0s T2y AKX MY X
2,287,000 2,287
HeEs0e ZT2OuneIN S4 13,200 0 13,200
2 6,600
= 3,300
2 3,300
307 2120/ & 13,200 0 13,200
2 6,600
= 3,300
2 3,300
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M 0ge 29
Sl Bl East (el &2
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
o DY BH LYHMEA 2S
7,000 * 1% * 23] 154
o X4/stgEd 7,000 * 308 * 72 1,470
2 222 5,224 6,024 A800
<BZRIYHA > 0
o HIASHAL FIIR2 994
-olee 4,190 * 6k * 24 * 122 604
- A82
845 * 24k * 200 A * 128 * 80/100 390
< NEEEISTY > 0
o QIS DEEUFY| 50,000 * 53 250
o DY YPAL RABE
3,500,000 * 194 3,500
o HIAZHAIL 200,000 * 274 400
o HIATIAIL 5,000 * 16H 2 80
401 AlAHIL 20| 35,000 0 35,000
01 Al&H] 35,000 0 35,000
o L& gL B0 DA
35,000,000 * 1742 35,000
DIge NEEH 3,280 22,703 A19,423
202 04t 3,280 3,600 A320
01 2Uioibl 3,280 3,600 A320
o DI HIIHY 20,000 * 2Y * 23 920
o DIYMT AR FA 20,000 * 2Y * 18 720
o QHSH MEEA 20,000 * 2% * 15 600
o QIYEY Y NEYS =&
20,000 * 2% * 262 1,040
gl 55 2 X 23,550 21,012 2,538
301 LB AI 23,550 21,012 2,538
I ERE T 16,550 14,112 2,438
o THLIOI® 2 BSHl 33,100 * 500 + 13 16,550
10 BAAE 243 7,000 6,900 100
o AHO Y S ABHAKX
10,000 * 500% * 1] 5,000
o oBAMN A8I|Z AN
20,000 * 1002 2,000
o2 22 51,054 101,442 A50,388
301 LB A 51,054 101,442 A50,388
09 Bol2RLABAZ 51,054 101,442 50,388
o ZURRQAMMBA 21,900
- MR 725,000 * 285 * 124 17,400
- Mzl 30,000 * 5% * 302 4,500
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SNBSS - HRAY - BHES Ol & o4 01l & o8 Hlnsa
o AWM JIES 30,000 » 118 * 13 330
o ZAPLRALES 28,824
- 3= 88,000 » 494 » 12& 4,224
-S4 5,000 » 14% » 25 * 12& 21,000
- WSl 2,000 » 4% » 252 » 123 2,400
- 1=t 300,000 = 494 * 13 1,200
bl s4X# 29,000 12,500 16,500
308 XX HHSO0IA 4,000 4,000 0
07 Ui Z2S4dXd34EX 4,000 4,000 0
o SELRAEAS HxF 4,000,000 4,000
403 XX SHMSA201H 25,000 8,500 16,500
03 OlHlZ2sS4dXds28x 25,000 8,500 16,500
o gEge AN XA 10,000,000 10,000
o fdlz2 ussd XA 5,000,000 5,000
o (b= fU=2E X2 10,000,000 10,000
Oz SELATNEE Ul XS 5,040 0 5,040
L= 5,040
403 NtXIEHMSK=01H 5,040 0 5,040
= 5,040
03 OiglzZsdX3N2EL 5,040 0 5,040
o (bl e H8E Hdl XN
5,040,000 5,040
= 5,040
olgke] 2l &4 873 0 873
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& 183
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301 et24 = 873 0 873
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= 428
10 At HIE& =3 873 0 873
o oige 21 &4 873,000 873
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= 428
gl UHSEHZ SR 750 0 750
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& 157
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301 LetE A3 750 0 750
= 225
& 157
= 368
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SN B2
M #H2SAL(E2D)
& QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
QI 2 5,306,585 5,020,952 285,633
A2 A 5,306,585 5,020,952 285,633
101 el 4] 245,206 247,047 A 1,841
01 2= 244,189 246,030 A1,841
o EASG(Hl, =II) 200,000,000 200,000
o AMZHAZ R
6,671 = 2498 = 23A12+ = 123 44,189
02 JIEt&E 1,017 1,017 0
o AN2ZRZ(HY 2tsS2)
6,516 » 18 * 13A12t » 123 1,017
203 HRF&Hl 86,020 86,020 0
01 JI22SHFF=&HI 52,800 52,800 0
o CHHIE 4,400,000 = 12& 52,800
02 FRAANMAHSFAHI 29,020 29,020 0
o =& (80,000 * 100¥) + (60,000 * 141H) 16,460
o BAHo= ¥ 40,000 » 71 2,840
o sgJl=Hg 40,000 » 369 1,440
o oAl 2l A 40,000 » 154 600
o EEAS A 40,000 » 174 680
S =i 7,000
- Z48 40,000 » 249 960
- A 40,000 » 15 600
-gd 40,000 » 154 600
- 3 40,000 » 144 560
- &AH 40,000 » 169 640
- oA 40,000 « 1744 680
- 28H 40,000 » 179 680
- A& 40,000 » 144 560
- S2d 40,000 » 144 560
- =20/ 40,000 » 154 600
- 25tH 40,000 » 144 560
04 FN2ILRFAHI 4,200 4,200 0
< 302! Olat 350,000 = 12& 4,200
303 E&a=z 1,350,000 1,350,000 0
02 d&0= 1,350,000 1,350,000 0
o Jita0= 1,350,000, 000 1,350,000
304 H=RE==S 3,555,359 3,267,885 287,474
01 elzgda 2,775,359 2,571,885 203,474
o Ha3RY= 15,630, 182,000 * 8.5% 1,328,566
o BA3z3 15,630, 182,000 * 8.751% * 70/100 957,459
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SN B2
H: HHSYAH(SLD)
Sl ol 2| (25 &2
_ _ SIEN
SH-EH . C(BH) - NRAY - BES Off &F oA il i~ o Hnz2
o gfxagRYl
15,630, 182,000 + 4.1067% * 70/100 449,320
o THAHSARLS 15,630, 182,000 * 0.256% 40,014
02 2LIAATEZ 780,000 696,000 84,000
o JBARY BOAYRHE
65,000,000 * 122 780,000
307 QI2H0|H 70,000 70,000 0
07 ZXZ2 70,000 70,000 0
o NYZXAZ L MHPES
2,000,000 * 35% 70,000
Jl= 2| 28, 160 12,224 15,936
o=l 28, 160 12,024 15,936
201 LBty 28, 160 12,024 15,936
01 At el 26,840 9,824 17,016
< ysagy > 0
o =ABX 25,000 * 202t~ * 128 6,000
o DREIE EY 250,000 * 2)H * 122 6,000
o WA gl 200,000 * 2CH * 47H 1,600
o YK =R 3,120
- B2 15,000 * 45 * 122 720
- N 10,000 * 205 * 122 2,400
o JIEt AREE| 20,000 * 235 * 122 5,520
o HUZMI A28 7Y L +uBEY)
2,300,000 * 2CH 4,600
2 BB 1,320 2,400 A1,080
< BTLILHAP> 0
o ASRa H3HALS 2 (393-1994)
110,000 * 122 1,320
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